Example for regstats

This example demonstrates the use of package

regstats, v1.0h as of 2012/01/07 (HMM).

The used options were proof=false,left=true,timer=true.

proof=false is the default, but neither left=true nor timer=true are defaults
(left=false,timer=false would be the defaults).

If e-TEX is available with your I#TEX-distribution and you want to use it,
uncomment the
%% \usepackage{etex}[1998/03/26]% v2.0
line in the preamble of this document.

For more details please see the documentation!

Save per page about 200 ml water, 2g CO2 and 2 g wood:
Therefore please print only if this is really necessary.

For the resulting message, please compile regstats-example.tex and have a
look at the end of the log-file.

Because the compilation time for this example is usually quite short, option
timer is not demonstrated very spectacular.



